.data
vectl: .word 0,1,2,3,4,5,6,7,8,9,10,11,12,13,14,15
vect2: .word 0,2,4,6,8,10,12,14,16,18,20,22,24,26,28,30
vect3: zero 64
cc 2¢ L}O CLV";pRﬂﬂO“
.text
11la x10, vectl D9 ,b(b@, J:AAUO
1la x11, wvect?2
Jla %12, vect3
711 x13, 0
111 x14, 16 r~ Q
loop: 3(\/ %
1 beg %13, x14, end «——c0Q ((CC QVGD
1y / slli x15, x13, 2 (D 5
1 add x15, x15, x10 « .p ) 3wops
~
1 lw x16, 0(x15) <D YN ep
1 s11i =15, =13, 2 b
1 add x15, x15, x11 <CP IVEP
1 1w %17, 0(x15) < Y3vep
\\
1 add x16, x16, x17 <co0 !3voP
1 s11i =15, x13, 2 53[\/07’
1 add x15, x15, x12 <X N
{ sw x16, 0(x15) (b 13NV eP
q ddi =13, =13, 1
1 j loop # jalr %0, x0, loop
end: \;—ZNOP
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